

AGENDA Community Policing Advisory Committee

March 21, 2018 9:00 am Council Chambers, Town Hall

- 1. CALL TO ORDER
- 2. DECLARATION OF PECUNIARY INTEREST
- 3. ADDITIONS TO THE AGENDA

THAT the agenda for the March 21, 2018 Community Policing Advisory Committee meeting be accepted as presented

4. ADOPTION OF MINUTES FROM PREVIOUS MEETING

THAT the minutes of the February 21, 2018 Community Policing Advisory Committee be approved and signed by the Chair and Secretary.

5. BUSINESS ARISING FROM MINUTES

5.1 Block Parent Program

Staff are in the process of collecting further information in regards to a Block Parent Program for St. Marys. A full report will be provided at a future meeting.

6. **DELEGATIONS**

None received.

- 7. REPORTS
 - 7.1 POLICE MONTHLY STATISTICS (February 2018)

THAT the February 2018 OPP Monthly report be received for information.

Pages

7

7.2 FALSE ALARM REPORT (February 2018)

THAT the February 2018 False Alarm Report be received for information

8. CORRESPONDENCE

None received.

9. OTHER BUSINESS

10. UPCOMING MEETINGS

April 18, 2018 - 9:00 am, Council Chambers

May 16, 2018 - 9:00 am, Council Chambers

June 20, 2018 - 9:00 am, Council Chambers

July - No Meeting

August - No Meeting

11. ADJOURNMENT

THAT the March 21, 2018 meeting of the Community Policing Advisory Committee be adjourned at _____ am.



MINUTES Community Policing Advisory Committee

February 21, 2018 9:00am Council Chambers, Town Hall

Committee Members Prese	nt: Peter McAsh John McGarry Fred Stam Councillor Don Van Galen
Committee Member Regre	s: Mayor Al Strathdee
ODD Dresent	Staff Sargaant Stanhana Dilan

OPP Present: Staff Sergeant Stephane Pilon Sergeant Scott Bentley

OPP Absent: Inspector Rob Scott

Staff Present: Brent Kittmer, Board Secretary

1. CALL TO ORDER

The meeting was called to order at 9:00am.

2. DECLARATION OF PECUNIARY INTEREST

None declared.

3. APPOINTMENT OF CHAIR AND VICE CHAIR FOR 2018

Secretary B. Kittmer opened nominations for the position of Chair of the Community Policing Advisory Committee.

Member Peter McAsh nominated Councillor Don Van Galen for the position of Chair. The nomination was seconded by Member John McGarry, and accepted by Councillor Van Galen.

No further nominations were received. Secretary B. Kittmer closed nominations for Chair.

Moved By P. McAsh Seconded By J. McGarry

THAT Councillor Van Galen be appointed Chair of the Community Policing Advisory Committee.

CARRIED

Chair Van Galen opened nominations for the position of Vice Chair of the Community Policing Advisory Committee.

Member Fred Stam nominated Member Peter McAsh for the position of Vice-Chair. The nomination was seconded by Member John McGarry, and accepted by Member Peter McAsh.

No further nominations were received. Chair Van Galen closed nominations for Vice-Chair.

Moved By F. Stam Seconded By J. McGarry

THAT Peter McAsh be appointed Vice-Chair of the Community Policing Advisory Committee.

CARRIED

4. ADDITIONS TO THE AGENDA

Moved By F. Stam Seconded By J. McGarry

THAT the agenda for the February 21, 2018 Community Policing Advisory Committee meeting be accepted as presented.

CARRIED

5. ADOPTION OF MINUTES FROM PREVIOUS MEETING

Moved By P. McAsh Seconded By F. Stam

THAT the minutes of the January 17, 2018 Community Policing Advisory Committee meeting be approved and signed by the Chair and Secretary.

CARRIED

6. BUSINESS ARISING FROM MINUTES

6.1 Verbal Update - Approved CPAC Terms Of Reference

Community Policing Advisory Committee - February 21, 2018

B. Kittmer provided a verbal update of the approved Community Policing Advisory Committee (CPAC) terms of reference.

7. DELEGATIONS

None.

8. **REPORTS**

8.1 Monthly Policing Statistics

S. Pilon and S. Bentley reviewed the report and answered questions of the committee.

Member Stam inquired as to the increased use of methamphetamine in the County. In response, S. Pilon indicated that this has been the historic drug of choice in Perth County. The OPP have actively worked on this issue, and have established the "Meth Task Force". The OPP efforts have reduced the usage of the drug, but it has not been eradicated.

S. Bentley indicated that fentanyl is viewed as the next emerging issue for drugs in the County. All OPP officers are now trained on administering naloxone.

Member Stam inquired on car thefts. S. Bentley responded that the significant majority of vehicles stolen in Perth County are those that have the keys left in them. The OPP has implemented education campaigns because almost all thefts are preventable.

Moved By F. Stam Seconded By P. McAsh

THAT the January 2018 OPP Monthly Report be received.

CARRIED

8.2 Monthly False Alarm Report

Moved By P. McAsh Seconded By J. McGarry

THAT the January 2018 False Alarm report be received.

CARRIED

9. CORRESPONDENCE

9.1 AMO Submission on Policing - Bill 175 Safer Ontario Act

Moved By F. Stam

Community Policing Advisory Committee - February 21, 2018

Seconded By J. McGarry

THAT the correspondence from AMO regarding Bill 175 the Safer Ontario Act be received.

CARRIED

10. OTHER BUSINESS

10.1 Committee Discussion: Block Parent Program in St. Marys

B. Kittmer provided an overview of the program and research collected to date.

The Committee provided direction to staff to report back to CPAC at the next meeting with an update on the matter.

10.2 Update: Final Draft of Police Services Agreement with the City of Stratford

B. Kittmer provided an update on the status of the services agreement with the City of Stratford, and indicated that the transition date is forecasted to be September 4, 2018.

11. UPCOMING MEETINGS

Chair Van Galen spoke to the upcoming meetings as identified on the agenda.

Member McGarry provided his regrets for March 21.

12. ADJOURNMENT

Moved By J. McGarry Seconded By P. McAsh

THAT the February 21, 2018 meeting of the Community Policing Advisory Committee be adjourned at 9:50am.

CARRIED

Chair Don Van Galen

Brent Kittmer, CAO / Clerk, Board Secretary



St.Marys Community Policing Advisory Committee Report



February 2018



St. Marys 2018/February

Calls for Service		
2018: 141	2017: 138	2016: 131

Public Complaints

Policy	Nil
Service	Nil
Conduct	Nil

Secondary Employment

N/A

DAR - Community Safety / Mobilization Hours

Number of Cruiser Patrol Hours:	61.50
Number of Foot Patrol Hours:	26.50
Number of School Patrol Hours:	14.25
Number of Specialized Patrol Hours:	Nil
Number of Focused Patrol Hours:	Nil
Number of Community Mobilization Hours:	37.50
Number of RIDE Program Hours:	2.00
Number of Auxiliary Hours:	21.00

Detachment Initiatives						
Number of Targeted Media Releases:	NUMBER OF TARGETED MEDIA RELEASES: 37 media releases were placed on the Perth County Media Portal. Five pertained specifically to St. Marys. These included: • A release about a suspicious vehicle • A release asking for assistance in identifying shoplifters • A release about a weapons call where charges were laid					
	 pertained specifically to St. Marys. These included: A release about a suspicious vehicle A release asking for assistance in identifying shoplifters 					

St. Marys 2018/February

	18 media interviews were conducted: 1 television, 12 radio and 5 newspaper interviews. Two WR Twitter posts were also made.Media releases are put out to in an attempt to educate, create awareness, and emphasize the need for the public's help in solving crimes.
Crime and Traffic Campaigns/Initiatives:	There were 5 Collisions in St. Marys in February (5 Property Damage). There was 1 RIDE program conducted in St. Marys in February with negative results.
	One driver was charged with Impaired Driving this month in St. Marys. The Distracted Driving campaign runs from March 12 th -March 18 th followed
	by the Easter long weekend campaign focusing on Seatbelts. This runs from March 30 th -April 2 nd .
Public Education	PUBLIC EDUCATION & CAMPAIGNS:
Campaigns:	Thirteen media releases were issued this past month pertaining to county- wide information and/or public education campaigns. These included:
	 A release about safe snowmobiling A release about human trafficking A release about stunt driving as well as charges A release about circulating counterfeit bills
	PC Brown provided Human Trafficking staff training to Community Living in February. Approximately 100 staff in total have now received the training with additional sessions booked for 2018.
	PC Brown was a guest speaker at the St. Marys Cubs & Scouts meeting and discussed stranger awareness and safety.
	PC Brown attended the Downie Optimist Bike Rodeo committee meeting with PC Cookson. Planning is well underway for the St. Marys event and will be duplicated in Mitchell, Shakespeare, Listowel, and Milverton.
	The OPP Citizen's Academy gets underway in March in Listowel.

St. Marys 2018/February

Crime Stoppers:	4 Total new OPP tips (Perth County only)			
	 1 Perth Drugs 3 Perth Intelligence 			
	One meeting attended and no presentations completed.			
Continuous Learning:	Block Training – 5 Officers Tobacco Enforcement – 20 Officers Youth Conference – 1 Officer Unmanned Aerial System Training – 1 Officer			
Community Engagement				

School/Youth Officer Hours / Calls for Service:	 There was one call for service at St. Marys DCVI in February. It was: An assault between two students where charges were not preferred by the student PC McLeod attended the Committee of Youth Officers Conference in Niagara Falls this month. She heard presentations on Youth Mental Health issues, Youth and Legalizing Marijuana and Youth Trends. The information sessions were all very informative, especially regarding the youth trends. Youth trends spoke about the use of social media including sexting trends and trends in risky youth behavior. Some of the behavior included substance use/abuse and the desensitization of sexual activity.
Community Mobilization Officer:	The second year of the Community Mobilization Program in Perth County has begun and we are continuing to move forward in providing assistance to residents in our communities. PC Dekoning has continued to attend regular Situation table meetings and recently presented a referral to the group. The subject referred is dealing with addiction issues and will be facing housing issues in the near future. PC Dekoning also spoke to the subject's family doctor communicating concerns to him regarding the subject's current state. As a result of the referral, the subject was provided with a number of community partners and their contact information to assist them. Though it is ultimately up to the subjects who are dealing with issues to get help, PC Dekoning often provides them with all the information to obtain assistance.

St. Marys 2018/February

	PC Dekoning has been maintaining a presence in the homes within Perth County that provide housing and daily assistance to individuals that are not capable of living independently. Mental health issues are the main reason the residents require assisted living. Police often become involved in calls for service involving the residents from calls being initiated by staff at the homes or the residents themselves. PC Dekoning has developed a positive relationship with the management of these homes in an attempt to offer additional assistance and to provide an element of accountability from a Police perspective. PC Dekoning has been welcomed in to the four homes within Perth County and attends these locations on a regular basis.
	Officers in Perth County had been dealing with a youth continuously over the previous number of months. The calls for service were escalating to an almost daily occurrence which included the Police apprehending the youth under the Mental Health Act and transporting them to the local hospital. PC Dekoning had also been involved with the youth and their family and attended meetings with other community partners that are also involved. Police played a major role in the youth eventually being removed from the home as their family could no longer safely care for them. PC Dekoning and Sgt Bentley spent an entire shift at the home with the youth and their family. A number of agencies were contacted and the youth was eventually removed from the home by the Children's Aid Society. Incidents that conclude in this manner are very difficult but during this process, it was evident that PC Dekoning had successfully built positive relationships with the social agencies involved.
	PC Dekoning has begun his anti-opiate presentations in North Perth. They are being presented in conjunction with Choices for Change. A media release will be sent out shortly and further presentations throughout the county will be scheduled.
	Police investigated nine Mental Health Act calls in St. Marys during the month of February, up from four in January.
Focused Patrol Initiatives:	There were no Focused Patrols for St. Marys in February.
Community Events:	Nil

St. Marys 2018/February

Noteworthy Occurrences

- Auxiliary Constable Jaimie SERF has accepted a position with Corrections Canada and will be attending training from March 26th to May 18th.
- Business owner reported that suspect from across the street shot her store window. Suspect spoken to, weapon identified as an airsoft gun with plastic BBs and suspect charged.
- Suspect attended store on two occasions and tried to pass counterfeit currency. Suspect identified and charged.

Looking Forward

Trends:	 In January and February 2018, the number of violent crime incidents in St. Marys stood at 8, up from the five-year average of 5. In January and February 2018, the number of property crime incidents in St. Marys stood at 10, down from the five-year average of 13.
Detachment Pressures:	 Current vacancies / Block Training / Other Training / Annual Leave Staffing pressures resulting from retirements, transfers, developmental opportunities, parental/maternity leaves, workplace accommodations
Community Pressures:	Increased traffic with the (eventual) return of nicer weather

Police Services Board Report for St. Marys Collision Reporting System February - 2018

Motor Vehicle Coll	isions	by Ty	уре							
							45			
Incidents		Febru	ary	Y	ear to l Febru		40			
	2017	2018	% Change	2017	2018	% Change	Incidents			
Fatal	0	0		1	1	0.0%				
Personal Injury	11	10	-9.1%	19	17	-10.5%	5	_		
Property Damage	35	45	28.6%	74	109	47.3%		Fatal	Personal	Property
Total	46	55	19.6%	94	127	35.1%			Injury 2017 = 2018	Damage
									- 2017 - 2010	,

Data Utilized

- SQL online application reporting system – OPP CRS 2.3.09

- Collision Reporting System Business Intelligence Cube

Detachment: 6N - PERTH COUNTYLocation code(s): 6N00-PERTH COUNTYData source date:Report Generated by:2018/03/14McFalls, Shawn

Report Generated on: 15-Mar-18 2:15:19 PM PP–CSC–Operational Planning-4300 Page 13 of 22

Police Services Board Report for St. Marys Integrated Court Offence Network February - 2018

Criminal Code and	Provi	ncial	Statute	Char	ges L	aid	
Offence Count		Febru	ary	Year to Date - February			t 320
	2017	2018	% Change	2017	2018	% Change	5 240 9 160
Highway Traffic Act	291	208	-28.5%	498	385	-22.7%	80 90 90 90 90 90 90 90 90 90 90 90 90 90
Criminal Code Traffic	2	8	300.0%	5	16	220.0%	
Criminal Code Non- Traffic	71	28	-60.6%	131	75	-42.7%	b 0 i
Liquor Licence Act	14	4	-71.4%	21	15	-28.6%	ustrate citritice citritice usual other
Other Violations	50	8	-84.0%	76	23	-69.7%	
All Violations	428	256	-40.2%	731	514	-29.7%	

Traffic Related Charges

Offence Count		Febru	ary	Y	ear to I Febru		180 160 140	
	2017	2018	% Change	2017	2018	% Change	9 120 9 100	
Speeding	165	99	-40.0%	284	184	-35.2%	Offen	
Seatbelt	8	2	-75.0%	9	5	-44.4%	20	
Impaired	2	3	50.0%	5	8	60.0%		Speeding Impaired Seatbelt Distracted
Distracted	8	1	-87.5%	11	7	-36.4%		2017 2018

Integrated Court Offence Network data is updated on a monthly basis: Data could be as much as a month and a half behind. **Data Utilized**

- Ministry of Attorney General, Integrated Court Offence Network

- Integrated Court Offence Network Charge Business Intelligence Cube

Detachment: 6N - PERTH COUNTYLocation code(s): 6N00 - PERTH COUNTYData source date:Report Generated by:15-Mar-18 12:44:37 PMMcFalls, Shawn

Report Generated on: 19-Mar-18 9:18:45 AM PP–CSC–Operational Planning-4300 Page 14 of 22

Police Services Board Report for St. Marys Records Management System February - 2018

				ге	Ji udi y	- 2018						
Violent Crime												
Actual		Februa	ary	Y	ear to [Febru			5				
	2017	2018	% Change	2017	2018	% Change		4				
Murder	0	0		0	0							
Other Offences Causing Death	0	0		0	0		Actual	3				
Attempted Murder	0	0		0	0		Ac	2				
Sexual Assault	0	0		0	0							
Assault	0	5		1	6	500.0%		1				
Abduction	0	0		0	0							
Robbery	0	0		0	0			0				
Other Crimes Against a Person	0	1		0	2				Ass	ault 2017	Other (2018	Crimes
Total	0	6		1	8	700.0%						
Duranta Calana												
Property Crime							-					
Actual		Febru	ary		ear to) Febru			4			1	
	2017	2018	% Change	2017	2018	% Change		4				
Arson	0	0		0	0 0		Actual	2		- 8		
Break & Enter	0	0		0	0 0		Act	2 2		_	H H-	
Theft Over	3	0	-100.0%	-		-100.0%		1		_		
Theft Under	0	4		4				0				
Have Stolen Goods	0	0		0	_			0	Theft	Theft	Fraud	Mischief
Fraud	2	1	-50.0%	+					Over	Under		
Mischief	4		-100.0%	_						2017	2018	
Total	9	5	-44.4%	15	5 10	-33.3%						
Drug Crime												
Actual		Febr	Jary) Date - Juary		1			[
	2017	2018	% Change	201	17 201	8 % Change	tual	1 1 0				
Possession	1	0	-100.0%	6	1	1 0.0%	¥					
Trafficking	0	0			0	0		0				
Importation and Production	0	0			0	0		U			ession 2018 = 2018	
TToduccion												

 Detachment: 6N - PERTH COUNTY

 Location code(s): 6N00 - PERTH COUNTY

 Area code(s): 6224 - St. Marys, 6296 - DVCI (St Marys District Collegiate and Vocational Institute)

 Data source date:
 Report Generated by:

 2018/03/10
 McFalls, Shawn

Report Generated on: 15-Mar-18 2:16:23 PM PP–CSC–Operational Planning-4300 Page 15 of 22

Police Services Board Report for St. Marys Records Management System February - 2018

Clearance Rate											
Clearance Rate		Februar	у	Year t	o Date - I	February	100%				
	2017	2018	Difference	2017	2018	Difference	80%				
Violent Crime		100.0%		100.0%	100.0%	0.0%	60% 40%			-	
Property Crime	11.1%	0.0%	-11.1%	6.7%	20.0%	13.3%	20%				
Drug Crime	100.0%			100.0%	100.0%	0.0%	0%	Violent Crim	Property Cri	Drug Crime	Total (Viole
Total (Violent, Property & Drug)	20.0%	58.3%	38.3%	17.6%	60.0%	42.4%		Chini	= 2017 =		(viole

Criminal Record and Vulnerable Sector Screening Checks

Actual		Februa	ary	Ye	Year to Date - February						
	2017	2018	% Change	2017	2018	% Change					
Criminal Record Checks	0	0		0	0			0	2	4	6
Vulnerable Sector Screening Checks	0	0		0	0						

Data contained within this report is dynamic in nature and numbers will change over time as the Ontario Provincial Police continue to investigate and solve crime.

Data Utilized

- Major Crimes

- Niche RMS All Offence Level Business Intelligence Cube

STATEMENT OF FEES COLLECTED RECOVERABLE EXPENSES

Perth County Detachment

S	t Marys		
Month of: February 2018			
Service	Receipted	Cash	Sub-Total
Record Checks - Employment	29	\$725.00	\$725.00
Fingerprints			
Insurance Requests			
Occurrence Reports			
RCMP			
Totals			\$725.00

Year to Date (includes current month)			
Service	Receipted	Cash	Year to Date
Record Checks - Employment	44	\$1100.00	\$1100.00
Fingerprints			
Insurance Requests			
Occurrence Reports			
RCMP			
Totals			\$1100.00



Calls For Service (CFS) Billing Summary Report

St. Marys February - 2018

				February	7 - 2010				
Billing Catego	ies			2018				2017	
(Billing categories traditional crime	s below do not match	February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours
Violent Criminal Code	Assault With Weapon or Causing Bodily Harm-Level 2	0	0		0.0	0	1	15.1	15.1
	Assault-Level 1	6	7	15.1	105.7	0	0		0.0
	Utter Threats to Person	1	2	15.1	30.2	0	0		0.0
	Total	7	9	15.1	135.9	0	1	15.1	15.1
Property Crime Violations	Theft Over - Other Theft	0	0		0.0	1	1	7.6	7.6
	Theft of - Automobile	0	0		0.0	2	2	7.6	15.2
	Theft of - Trucks	0	0		0.0	1	3	7.6	22.8
	Theft of - All Terrain Vehicles	0	0		0.0	1	1	7.6	7.6
	Theft under - Bicycles	0	0		0.0	0	2	7.6	15.2
	Theft under - Trailers	0	0		0.0	0	1	7.6	7.6
	Theft under - Other Theft	4	4	7.6	30.4	0	2	7.6	15.2
	Theft Under - Gasoline Drive-off	0	1	7.6	7.6	0	0		0.0
	Theft FROM Motor Vehicle Under \$5,000	0	1	7.6	7.6	0	0		0.0
	Theft Under \$5,000 [SHOPLIFTING]	1	1	7.6	7.6	0	0		0.0
	Fraud - Fraud through mails	0	1	7.6	7.6	0	0		0.0
	Fraud -Money/property/ security <= \$5,000	1	2	7.6	15.2	2	2	7.6	15.2
	Fraud - Other	0	0		0.0	1	1	7.6	7.6
	Identity Fraud	0	0		0.0	0	1	7.6	7.6
	Mischief - master code	0	1	7.6	7.6	6	6	7.6	45.6
	Total	6	11	7.6	83.6	14	22	7.6	167.2
Other Criminal Code Violations (Excluding	Offensive Weapons- Possession of Weapons	1	1	7.6	7.6	0	0		0.0
traffic)	Offensive Weapons- Other Weapons Offences	1	1	7.6	7.6	0	0		0.0
	Bail Violations - Fail To Comply	1	2	7.6	15.2	0	1	7.6	7.6
	Bail Violations - Others	1	1	7.6	7.6	0	0		0.0
	Possession Of Counterfeit Money	1	1	7.6	7.6	0	0		0.0
	Uttering Counterfeit Money	1	1	7.6	7.6	0	0		0.0
	Counterfeit Money - Others	0	0		0.0	1	1	7.6	7.6
	Breach of Probation	1	1	7.6	7.6	1	2	7.6	15.2



St. Marys February - 2018

				February	/ - 2018				
Billing Categor	ries			2018				2017	
(Billing categories traditional crime	s below do not match	February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours
Other Criminal Code Violations (Excluding traffic)	Total	7	8	7.6	60.8	2	4	7.6	30.4
Drug Possession	Possession Other Controlled Drugs and Substance Act	0	0		0.0	1	1	6.2	6.2
	Possession Cannabis	0	1	6.2	6.2	1	1	6.2	6.2
	Drug related occurrence	0	0		0.0	1	1	6.2	6.2
	Total	0	1	6.2	6.2	3	3	6.2	18.6
Statutes & Acts	Landlord/Tenant	1	1	3.1	3.1	0	3	3.1	9.3
	Mental Health Act	3	4	3.1	12.4	5	7	3.1	21.7
	Mental Health Act - Attempt Suicide	1	1	3.1	3.1	0	0		0.0
	Mental Health Act û Threat of Suicide	5	7	3.1	21.7	1	2	3.1	6.2
	Mental Health Act - Voluntary Transport	0	1	3.1	3.1	0	1	3.1	3.1
	Mental Health Act - Placed on Form	0	0		0.0	0	2	3.1	6.2
	Trespass To Property Act	1	1	3.1	3.1	1	3	3.1	9.3
	Total	11	15	3.1	46.5	7	18	3.1	55.8
Operational	Animal Injured	0	0		0.0	2	2	3.4	6.8
	Animal - Other	0	0		0.0	5	5	3.4	17.0
	Domestic Disturbance	4	5	3.4	17.0	1	2	3.4	6.8
	Suspicious Person	5	6	3.4	20.4	4	8	3.4	27.2
	Phone -Nuisance - No Charges Laid	0	0		0.0	0	1	3.4	3.4
	Insecure Condition - Building	1	2	3.4	6.8	0	1	3.4	3.4
	Missing Person 12 & older	1	1	3.4	3.4	0	0		0.0
	Missing Person Located Under 12	0	0		0.0	1	1	3.4	3.4
	Noise Complaint - Residence	3	5	3.4	17.0	1	5	3.4	17.0
	Noise Complaint - Business	0	2	3.4	6.8	0	0		0.0
	Noise Complaint - Others	0	1	3.4	3.4	0	1	3.4	3.4
	Accident - non-MVC - Industrial	0	1	3.4	3.4	0	0		0.0
	Found-Personal Accessories	1	3	3.4	10.2	1	1	3.4	3.4



Calls For Service (CFS) Billing Summary Report

St. Marys February - 2018

				February	- 2010				
Billing Categ				2018				2017	
(Billing categori traditional crime	February	Year to Date	Time Standard	Year To Date Weighted Hours	February	Year to Date	Time Standard	Year To Date Weighted Hours	
Operational	Found-Household Property	0	0		0.0	0	1	3.4	3.4
	Lost-Personal Accessories	1	1	3.4	3.4	0	0		0.0
	Lost-Others	1	1	3.4	3.4	0	0		0.0
	Sudden Death - Natural Causes	1	3	3.4	10.2	0	0		0.0
	Suspicious Vehicle	6	9	3.4	30.6	3	5	3.4	17.0
	Trouble with Youth	2	5	3.4	17.0	4	8	3.4	27.2
	Medical Assistance - Other	0	1	3.4	3.4	0	1	3.4	3.4
	Vehicle Recovered - Automobile	0	0		0.0	0	1	3.4	3.4
	Unwanted Persons	2	2	3.4	6.8	3	3	3.4	10.2
	Neighbour Dispute	1	2	3.4	6.8	1	6	3.4	20.4
	Other Municipal By- Laws	2	4	3.4	13.6	0	0		0.0
	Traffic By-Law	0	1	3.4	3.4	1	4	3.4	13.6
	Assist Fire Department	0	0		0.0	0	1	3.4	3.4
	Assist Public	18	29	3.4	98.6	14	23	3.4	78.2
	Family Dispute	2	6	3.4	20.4	6	11	3.4	37.4
	Total	51	90	3.4	306.0	47	91	3.4	309.4
Operational2	False Alarm-Accidental Trip	0	1	1.2	1.2	1	3	1.2	3.6
	False Alarm- Malfunction	0	4	1.2	4.8	6	7	1.2	8.4
	False Holdup Alarm- Accidental Trip	0	1	1.2	1.2	0	1	1.2	1.2
	False Alarm -Others	1	3	1.2	3.6	3	3	1.2	3.6
	False Alarm -Cancelled	1	3	1.2	3.6	1	1	1.2	1.2
	Keep the Peace	1	1	1.2	1.2	0	1	1.2	1.2
	911 call / 911 hang up	10	18	1.2	21.6	2	7	1.2	8.4
	911 hang up - Pocket Dial	1	2	1.2	2.4	0	1	1.2	1.2
	911 call - Dropped Cell	3	3	1.2	3.6	0	0		0.0
	Total	17	36	1.2	43.2	13	24	1.2	28.8
Traffic	MVC - Prop. Dam. Non Reportable	3	4	3.4	13.6	2	2	3.4	6.8
	MVC - Prop. Dam. Reportable (MOTOR VEHICLE COLLISION)	1	3	3.4	10.2	0	1	3.4	3.4
	MVC - Prop. Dam. Failed to Remain (MOTOR VEHICLE COLLISION)	1	1	3.4	3.4	0	1	3.4	3.4



St. Marys February - 2018

Billing Categories (Billing categories below do not match traditional crime groupings)				2018			2017						
		February	Year to Date	Time Standard	Year To Date Weighted Hours		February	Year to Date	Time Standard	Year To Date Weighted Hours			
Traffic	5	8	3.4	27.2		2	4	3.4	13.6				
Total	104	178		709.4		88	167		638.9				

Note to Detachment Commanders:

- The content of each report is to be shared by the Detachment Commander <u>only</u> with the municipality for which it was generated. The municipality may treat this as a public document and distribute it as they wish.
- All data is sourced from the Niche RMS application. Included are 'reported' occurrences (actuals and unfounded occurrences) for 'billable' occurrences ONLY. Data is refreshed on a weekly basis.
- The Traffic category includes motor vehicle collision (MVC) occurrences entered into Niche (UCR code 8521). MVCs are NOT sourced from the eCRS application for this report.
- Only the primary violation is counted within an occurrence.
- Time standards displayed are for the 2017 billing period.

Note to Municipalities:

- Data contained within this report is dynamic in nature and numbers will change over time as the Ontario Provincial Police continues to investigate and solve crime.
- This report is NOT to be used for crime trend analysis as not all occurrences are included.
- Data groupings within this report do not match traditional crime groupings seen in other public reports such as the OPP Police Services Board reports or Statistics Canada reporting.

Perth County OPP

28-Feb-18

Page 1

FALSE ALARM REPORT Town of St Marys 01 February - 28 February 2018

HER NOTES
FALSE
FALSE